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BRI 1275 2007. 11. 13 ERHBHE 1,6574 (#BAN1,4834%)
H R X T 0 |mossems| FEas | | RS 0D | i | | B0 5T | 6~4 8 15 | 3BT g
BRIRER TARHEX 19 30 22 8 12 29 72 0:09
BRIRER X 22 56 66 9 14 25 80 0:11
BRIRER P [X 13 30 47 25 185 0:06
RIRER di 11X 12 21 58 1 1 17 72 0:06
RIRER KHX 3 6 13 1 1 16 32 0:08
RIRER BEAX 15 35 87 8 11 27 155 0:05
BRIRER A X 9 17 10 14 32 0:05
BRIRER HEX 2 5 15 1 1 7 11 0:03
BRIRER e X 26 97 99 5 9 23 95 0:08
RIRER P [X 1 5 9 3 3 7 24 0:03
BRIRER A X 5 6 6 15 30 0:04
BRIRER SO X 16 29 60 5 7 19 113 0:16
RIRER BEX 11 59 120 5 22 13 62 0:58
BRIRER A X 3 6 17 8 23 0:05
BRIRER RIS X 12 19 52 1 1 11 22 0:06
BRIRER JEX 6 29 31 2 2 7 25 0:08
BRIRER B HIX 31 100 171 4 7 19 94 0:43
BRIRER TLH X 14 33 16 3 3 28 115 0:05
BRIRER FHX 7 19 46 13 42 0:06
BRIRER T 12 38 90 11 27 0:04
BRIRER e fifii X 4 6 12 8 18 0:05
BRIRER S X 7 20 45 2 2 8 31 0:05
BRIRER JENLIX 13 29 69 6 6 11 26 0:47
BRIRER E2- i 4 4 18 5 15 0:03
BRIRER A LT 1 1 2 3 0:04
BRIRER S 3 12 7 2 20 0:05
BRIRER ST 2 4 2 3 6 0:02
BRIRER ESZRsat) 3 4 4 5 0:03
BRIRER N E i) 1 2 1 1
BRIRER AT T 2 2 6 9 0:03
BRIRER JF AT 3 3 2 6 0:04
BRIRER T H T 7 11 56 3 3
BRIRER =& 2 2 2 2 7 0:07
BRIRER R T 2 2 4 7 0:04
BRIRER INEATH 3 3 6 4 5 0:03
BRIRER Y208 1 1
IR TR X 1 1 2 1 1
#wEE JHHRF X 1 1 2 1 1 8 18 0:07
EJIE FE[X. 1 1 1 1 0:04
FER i)l 1 2 2 4 5 0:17
FER GEadn) 1 1 2 2 0:08
FER A T 1 1 2 5 8 0:07
FER AT 3 3 6 2 4 0:20
A 1 1




